SERVICE ORDER INVOICE

( IMFTE, INVOICE #: 538355

INVOICE DATE : 30-JUN-21
ESTIMATE # : 46719
TERMS : PAY BEFORE RECEIVING

CUSTOMER: 18045
WARREN GRADWELL

-
111 9TH AVE N, Sw/o FrCme.
WELLMAN ;. IA 52356 , o 8 ‘
U.S.A. Ao, 1 eegs
Phone: 641-485-3399
< /\%ége) é;qu?CQ&::S .
[’ /Q/ CUS R PO:
New) MdoseNKes]
Fleet # Make Model Year
144138 TIMPTE GRAIN TRAILER 0
Serial # Customer Reference Fleet Owner
144138 WARREN GRADWELL
Description of Service Labor Labor Labor Extended
Hours Rate Disc % Amount
1 replace long beam assembly 47.00 95.00 20.0 3,572.00

fix brake chamber axle bracket
replace lower nose rail

Part Number Part Description U/M Quantity Disc% Total Price

004-20682-01333 NOSE LOWER EXTRUSION 83 5/16" LONG EA 1 100.00

020-09913 HUBCAP STEMCO $#340-4009 (ORDER IN EA 1 18.29
MULTIPLES OF 50

021-02845-00960 AIR BRAKE HOSE AY 60" WITH VIBRASEAL EA 1 17.83

021-03590 FITTING BUSHING 1/4" NPTF -3/8 NPTM EA 1 3.24

021-34952 AIR TANK 12"DIA 2 1/4 X 29 1/2 CEN EA 1 212.00
2976 cu. in. capacity

021-40626 TUBE CONNECTOR MALE 3/8" TUBE TO EA 5 13.80
1/4" NPT BRASS VS68NTA-6-4

021-46025 VALVE EMERGENCY BRAKE TRAMEC #51301 EA 1 68.94

021-55481 FITTING NIPPLE PIPE 3/8 X 4" EA 1 3.83
NP''TM/NPTM

024-29772 SHOCK ABSORBER RL228 RL230 & RL250 EA 2 92.24

W/17" RH SUSPENSIONS
ORDER DIRECT

024-51512 S CAM SHAFT 5 3/4" AXLE HOLLAND LH EA 1 63.02

024-56372 AIR SPRING AY SAF-H FUSION 317 EA 4 540.00



SERVICE ORDER INVOICE

(TIMPTE)

CUSTOMER: 18045

WARREN GRADWELL

Description of Service

INVOICE #:

INVOICE DATE

ESTIMATE #

Labor

Hours

TERMS

Labor
Rate

538355

30-JUN-21
46719
PAY BEFORE RECEIVING

Labor Extended
Disc % Amount

Part Number

024-59279

032-28566

032-28567

032-37347

032-42363

315-58023s

Part Description

SUSPENSION COMPOSITE BASE COMPOSITE
PISTON

VALVE PRESSURE PROTECTION 3/8" PORTS
70 PSI CLOSE

HUCKBOLT 3/8 SS CAPPED #8 GRIP .37-
.62 TRUSS HD C6LTC-R12-8G (500/BOX)
DIRECT

HUCKBOLT 3/8 SS CAPPED #12 GRIP .62-
.875 TRUSS HD C6LTC-R12-12G
(450/BOX) CB

COLLAR HUCK 3/8 3LC-2R12G 1500/BOX

HUCKLOK 1/4 #10 GRIP .375-.625 HKLP-
R8-10 (REPLACES 032-14730) 1500/BOX

BOGIE AL 38'/40'/43' 96W 49" TANDEM
2017 MODEL SUBFRAME AY SERVICE

U/M Quantity

EA

EA

EA

EA

EA

EA

Disc% Total Price

12

88

142

18.59

16.56

77.44

31.24

1,850.00



SERVICE ORDER INVOICE

(TIMFTE] INVOICE #: 538355

INVOICE DATE : 30-JUN-21
ESTIMATE # : 46719

TERMS PAY BEFORE RECEIVING
CUSTOMER: 18045
WARREN GRADWELIL

Description of Service Labor Labor Labor Extended
Hours Rate Disc % Amount

Payment Type Reference # Pay Amount

CHECK TRANSACTION 6411 169.62

CASH TRANSACTION 3049267 7,000.00
Remit To: TIMPTE - URBANA Labor 3,572.00
5368 HUTTON DRIVE Material 3,128.58
URBANA IA 52345 Tax 469 .04
Phone: 319.443.4100 Invoice Total 7,169.62
Fax: 319.443.4107 Prepayment 7.165.62
NRAWSON@TIMPTE .COM Due Amount 0760

All sales are subject to standard Timpte Terms and Conditions which can be viewed at

www. timpte.com/terms.html.

This sale could be applicable to FET.

Returns of merchandise must be authorized and accompanied by a copy of Seller's
invoice. All Returns, unless defective, are subject to Twenty Percent (20%) handling

charges and all transportation costs.



SERVICE ORDER INVOICE -

w] INVOICE #: 527092

INVOICE DATE : 10-AUG-20
ESTIMATE # : 32728
TERMS : PAY BEFORE RECEIVING

CUSTOMER: 18045
WARREN GRADWELL T S I ( .
111 9TH AVE 4/&77 /aqg ‘9{ /:;Y’ Ceq
WELLMAN, IA 52356 /{ggu(/{ /74/}(,7’;?8/3”
U.S.A. ; t
Phone: 641-485-3399

CUSTOMER PO:

Fleet # Make Model Year
144138 L TIMPTE GRAIN TRAILER 0
Serial # " Customer Reference Fleet Owner
144138 s % WARREN GRADWELL
Description of Service Labor Labor Labor Extended
Hours Rate Disc % Amount
1 replace rdsd rear panel 19.00 90.00 15.0 1,453.50

replace tarp

replace both tarp caps

tarp system not working

replace rear ladder-used one sitting

outside

Part Number Part Description U/M Quantity Disc% Total Price

004-30589-00954 Zz-POST HEAVY DUTY 59 5/8" (66" NOSE) EA 1 43.18

031-51222 PLUG 2 POLE VERTICAL 6 GA HYD DOOR & EA 1 19.04
ELEC TARP KITS

032-28566 HUCKBOLT 3/8 SS CAPPED #8 GRIP .37- EA 2 2.68
.62 TRUSS HD C6LTC-R12-8G (500/BOX)
DIRECT

032-28567 HUCKBOLT 3/8 SS CAPPED #12 GRIP .62- EA 4 5.36
.875 TRUSS HD C6LTC-R12-12G
(450/BOX) CB

032-37347 COLLAR HUCK 3/8 3LC-2R12G 1500/BOX EA 6 2.10

032-43029 MAGNAILOK 1/4 #6 SS GRIP .080-.38 EA 45 37.35
PROTRUDING HD MGLP-U8-6 (2,000 PER
BOX)

034-35401 WALL PROTECTOR PLASTIC ROLL TARP Ei\ 1 20.62
80/BOX

034-43057 U-CLAMP NYLON TARP TO ROLL TUBE EA 13 20.28

(ORDER IN QTY'S OF 650)



SERVICE ORDER INVOICE

T]MPTE INVOICE #: 527092

INVOICE DATE : 10-AUG-20
ESTIMATE # : 32728
TERMS : PAY BEFORE RECEIVING
CUSTOMER: 18045
WARREN GRADWELL

Description of Service Labor Labor Labor Extended
Hours Rate Disc % Amount

Part Number Part Description U/M Quantity Disc% Total Price
035-06927 BEARING 2-BOLT FLANGE GREASED 1" EA 6 97.20

WITH GREASE ZERKS *CB* *035-48979
IS STANDARD BEARING

035-39428 UPRIGHT CAST TARP STOP (UPRIGHT EA 8 84.24
ONLY) TS
035-40800 PIN W/RING 5/16 DIA X 2 7/8 L. FOR  EA 16 54.56

THE EZ OFF TARP STOP

035-43063-04224 TUBE 1 1/8" OD X 16 GA X 264" L W/ EA 1 57.10
SWAGE ON END TARP FIXED TUBE
(BLUE) 127/BNDL

035-46762-01 TARP 38'-11"X123" 180z BLK 40' 0" EA 1 453.80
96W TIMPTE

035-47442 UNIVERSAL JOINT AY W/SLOT DRIVE ILO EA 2 127.60
KEYWAY
DMB

035-48978 BEARING ROLLER 1.5748 OD X .64 ID 2 EA 44 141.24

OR 3 LIP SEAL &SHIELD 280/BOX SEE
BUY CARD FOR SPECS

038-01687 UNDERCOATING EA 2 27.38
051-39427 BRACKET TARP STOP MNTG (PURCHASED) EA 7 86.52
083-37480-00872 SKIN REAR 72H 96W CBSD 2002 MODEL - EA 1 183.33
PPW
100097 RIDGE STRAP KIT INCLUDES PARTS EA 2 95.98
NEEDED TO REPLACE RIDGE STRAP ON ALL
TRAILER
577-54182 TARP CAP AY FRONT 96W 8" RISE EA 1 344 .45

VERTICAL NOSE - SERVICE ONLY

577-54183 TARP CAP AY REAR 96W 8" RISE EA 1 301.36
VERTICAL REAR SERVICE ONLY




SERVICE ORDER INVOICE

TIMPTE. INVOICE #: 527092

INVOICE DATE : 10-AUG-20
ESTIMATE # : 32728

TERMS : PAY BEFORE RECEIVING

CUSTOMER: 18045
WARREN GRADWELL

Description of Service Labor Labor Labor Extended
Hours Rate Disc % Amount
Payment Type Reference # Pay Amount
CREDIT CARD 024F85 4,019.85
Remit To: TIMPTE - URBANA Labor ) 1,453.50
5368 HUTTON DRIVE Material 2,205.37
URBANA IA 52345 Shop Charge 98.00
Phone: 319.443.4100 Tax 262.98
Fax: 319.443.4107 Invoice Total 4,019.85
ZJURGENSQTIMPTE .COM Seenaynenk 2 019.85
7 ;
Pue Amount 0.00

All sales are subject to standard Timpte Terms and Conditions which can be viewed at

www. timpte.com/terms.html,

Returns of merchandise must be authorized and accompaniec by a copy of Seller's

invoice. All Returns, unless defective, are subject to Twenty Percent (20%) handling

charges and all transportation costs.

This sale could be applicable to FET.



